Forward

pr [ GeV/c] y* d‘;%'T [ mb /( GeV/e)]
[0, 1] [2.5,4.0]  11.306 = 0.183 =+ 0.091 + 0.604
1,2] 2.5,4.0]  15.584 & 0.129 & 0.067 = 0.725
(2,3 [2.5,4.0] 9.062 %= 0.054 4 0.030 == 0.669
3, 4] [2.5,4.0]  4.295 £ 0.026 % 0.014 = 0.518
[4,5] 2.5,4.0]  1.874+0.015 £ 0.007 & 0.300
[5, 6] [2.5,4.0]  0.879 £ 0.010 £ 0.005 = 0.166
[6,7] [2.5,4.0]  0.438 £ 0.008 £ 0.003 £ 0.087
7,8] [2.5,4.0]  0.224 £ 0.008 £ 0.003 = 0.046
[8,9] [2.5,3.5] 0.108 = 0.003 4= 0.001 £ 0.026
[9,10] [2.5,3.5] 0.062 £+ 0.002 £+ 0.001 + 0.014
[10,11] 2.5,3.5]  0.036 £ 0.002 & 0.001 £ 0.008
[11,12] 2.5,3.5]  0.027 £ 0.002 % 0.001 = 0.005
[12,13] 2.5,3.0]  0.009 £ 0.001 % 0.000 = 0.002
[13,14] 2.5,3.0]  0.006 & 0.001 % 0.000 = 0.001
Backward
pr(Gev/d A [ mb /( GeV/e)]
[0,1] [4.0,-3.0] 11.786 £ 0.610 % 0.201 = 0.800
1,2] (4.0, -2.5]  20.026 £ 0.362 £ 0.146 + 1.242
2,3] [—4.0,-2.5] 11.738 £ 0.125 £ 0.051 £ 0.755
3,4] [—4.0,—2.5]  5.320 £ 0.053 % 0.021 % 0.505
[4,5] [4.0,—2.5]  2.275+0.026 % 0.010 = 0.292
[5, 6] [~4.0,—2.5]  1.026 = 0.015 £ 0.005 + 0.157
[6,7] [~4.0,—2.5]  0.500 = 0.010 £ 0.003 = 0.088
[7,8] [~4.0,—2.5]  0.244 = 0.006 = 0.002 % 0.047
8,9] [4.0,-2.5]  0.131 £ 0.004 £ 0.001 £ 0.027
0,10  [~4.0,—2.5]  0.073 £ 0.003 £ 0.001 = 0.016
[10,11]  [-4.0,—2.5]  0.043 £ 0.002 % 0.001 = 0.010
[11,12] [-4.0,—2.5]  0.026 & 0.002 & 0.001 % 0.006
[12,13]  [=3.5,—25]  0.015 & 0.001 & 0.000 £ 0.003
[13,14]  [-3.5,-2.5]  0.009 = 0.001 = 0.000 = 0.002




